Puzzle 9823 - Wednesday, 22 October, 2014 - Difficulty 3

17 1 | EA 129 14
5|14 8|17 [6}f3]|9]2
e R S O R TR
69|28 534|117
H :’1’6"’ ffffff,: 7’,11111 é’,::,,:iii{: : i
703111914 2]6:58:
‘1’5"" f,::ﬁ: :|757:” 5’11111 i i ’8’,::, ’1’7”,111 ’7’,::,:::,
8|7 16)4 13 1192]|5
Zf::ffffff,: i i i i k179i:1 : i i i :lb’::ffffff,
3119527864
’7’,:::::::,: H’d’" ffffff,: % 3‘1’0’:1 ffffff,: :I’Of:ffffff,
2154|168 9]|1}7/|3:
T R N R R N O
118|579 4]2)36:
% : ;’5’::’:::, i ’7’,::::1 | i;:’”ffffff, : i
92| 7f3)6)8f5]4]1,
| it 51 | 121 | |
4]6f3]2f1)s5]|7]8]9,

Copyright (c) www.dailykillersudoku.com



